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Except answer-book, no extra sheet will be giuen. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

wnite anything on question paper and don't make any mark on answers of objective
type questions.
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Before answering the questions, ensure that you hare been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination. |
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General Instructions :

(i) &f 597 e &

All questions are compulsory.
(i) 997 T 1 § 20 7F TGS §97 &1 FAF F97 1 HF &7 &

Question Nos. 1 to 20 are Objective Type Questions. Each question carrtes 1
mark.

(iii) 597 TG 21 & 24 7% SfFTY FAGT 97 &1 FIE 997 3 9% F 01

Question Nos. 21 to 24 are Very Short Answer Type Questions. Each
question carmes 3 marks.

(iv) H97 G625 & 30 TF @Y 707 F7 &1 A9F 997 & HF F &)

Question Nos. 25 to 30 are Short Answer Type Questions. Each question
carnes 4 marks.

(v) 597 G&T 31 A 34 T AT~ J577 & 59% 997 6 oF F &

Question Nos. 31 to 34 are Long Answer Type Questions. Each question
carmies 6 marks.

1. & 3% 2EM Ro 3 T 36 o 3 aufd § & mufe & @ Fwifta o 3
FRA A B &4 A T F & 3 0 g i @ @ @ sifas swim @ R gam
¥ o S § @ gat A 4 o & EEm § I & A e 1
307 & I R F geee TER A Fufd ddia €
(A) SafE JEm (B) T /fadms T@

) fwich aEm (D) I 7 I A7

Hare Kkrishna Industrics Ltd. and Rama Industries Lid. are the companies
which are concerncd with using materials, which have already been extracted
al a primary state. These companics process such malcrials ‘o produce goods
for final consumption or for further processing by other industrial units.

Identify the type of industry to which these companies are related :
(A) Primary Industry (B) Secondary Industry
(C) Tertiary Industry (D) None of the above
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LUCERGUICE E kL S Y F e ¥ '
(A) (B) RS A

(C)‘wf‘?m (D) A F & # 78

Indian Railways is the example of ............. form of public enterprises.

(A)  Departmental Underakings (B) Public Corporations

(C)  Government Company (D) None of the above

W & R Rs. 50,000 4 3 A1 F 49 Rs. 70,000 W FHaar & o IR &0 A«

HRE B e, d@ &M F daw Jeded g omig Rs. 50,000 F 8 AR Hud
§e% fauda, aR #i¥ &K Rs. 50,000 §4 3 7@  Rs. 30,000 & @1 wwaan ¥ ol
qI0 o fowe ® A 8, @ @ F9 3ad Rs. 30,000 F & P Heom 1

4 1 e JaRe e Sudie Sermeer q&fta ¢
(A) FrEean s B) &fayfd
(C) UHT T D) @ & AT FEA

A person gets his stock insured worth Rs. 50,000 for Rs. 70,000. A firc occurs
and whole stock gets damaged. Insurance company will pay him only
Rs. 50,000, i.c., the actual value of his stock @ind not Rs. 70,000. On the other
hand, If any person gets his stock insured worth Rs. 50,000 for Rs. 30,000

and the whole stock gets damaged, he will get only Rs. 30,000, the actual

valuc for which insurance has been taken.
Mcntion the principle of insurance to which the above example is related :

(A) Proximate causc (B) Indemnity
(C) Subrogation (D) Mitigation

e &1 @ ges ¢ Bl @93 & @& e W ks o ok 7@t 8 W R
oES BQ &l 24999 ¥ 9% Y OF Jaey & [T £ a9 o IEH @ 699 § @
- 1

gYq &9 8

§-ﬁ'¢ﬁ'ﬂ P qTFH F A9 ARV : | ‘
(A) B2B FWd (B) B2C ¥
(C) &3-B ¥ (D) C2C 394

There is a constituent of e-business in which transactions have business firms
at one end and its customers on the other end. It cnables a business to be in

touch with its customers on round-the-clock basis.

Name the constituent of e-business :

(A) B2B Commcrce (B) B2C Commerce
(C) Intra-B Commerce (D) C2C Commerce

P.T.0.



S. & PRY (Public Deposits) 38 FRT 2 & & ooovevevee. 3 yrq R a8 1
(A) T (B) D
(C) PET D) @M
Public dCPDSiLS arc the dcposi[s that are rajsed dirccl]},’ 6] 1) T .
(A) The Public (B) The Directors
(C) The Audilors (D) The Owners
6. IR S o m A R A A ;g T & 7 1
(A) FEH (B) Jafm
(C) oA (D) ST T IafE
What is the outcome of entreprencurship called ?
(A) Entrcprencur (B) Entreprencurship
(C) Enterprisc (D) Entreprencur and Entreprencurship
7. 99 @ R YN B OFgREw ma % &0 & ) R 1
(A) 9% (13) GTH AW
(C) e (D) INEH
The [acility of 'home delivery of goods' is generally provided by .............
(A) Wholcsaler (3) Rectailer
(C) Agent (D) Producer
8 e H ..o F Iv@ fFE A 1
(A) T & 99 B) 99 3 e
(C) W & A (D) I |l
...................... is explained in the Indent.
(A) Name of goods (B) Quality of goods
(C) Price of goods (D) All of the above
AP JGIAF HFREad F T T 8 (5T % TIT HFIA/ %) A
............. is not an cxamplc of business Uncertainty.
(Wrong estimate of demand/ Earthquake)
10. adafE T A o7 @ ARETT TR gl (50/ & & dmr &) 1
The maximum number of members in a public company is ........, (50/ No limit)
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L T A A & sferfa ol B sy o/ o) 1

comes under general insurance. (Fire Insurance/ Life Insurance)

IIIIIIIIIIIIII

12. Prafesdl & R Q0 oot BT @@ & B e 72 & (@7 wd /A R 1
Hiring the whole ship for Export is called ......... . (Charter Party/ Shipping Bill)

13. YT T 3 fou ofaigy s oA e B (F/75T) 1
Every company must file Articles of Association. (True/ False)

14. 9@ § o We 30d 3 Fe o= A ¢ (F/3) 1
(True/ False)

All the patents in India have their validity for 30 ycars.

15. GST YeR 3 sidh ‘&7 & oW &0 o & 7 B daa 90 ghe W (G7./70) 1

Under the system of GST, the tax is charged not only on Valuc Addition but

'Tax on Tax'. (True/ False)
16. ‘7o o w e Rrael @ wger Feaa (srafa deie) & Wom & qU FE
81 T FUH FIET $ INQ gQ Al @ Fafvd &1 3@ Gedimw 1

[t refers to conducting all the commercial activitics through computer network
(Internet). The above statement is related to one of the cmerging modes of

business. Identily it.

17. "6 WA I Al v 2 & a9 A R, o & AEaE @8 A Raw d
a™ @ R Rv= a1 & 317 Sulea FE9 N @ W A R @ et & 3@

LERIE I 1
"It refers to that person or a group of persons whc performs various functions
to bring a business unit into existence.” The above statement is related to one

of the terms of formation of company. Identify it.

18. “3q@ WG IA M A B A IS W9 F PIEA 7 TR B w9 TN A B
AR J geiEd @ 17 90 F99 il D O SN @ el B 3@ a1

"It refers to those shares which carry preferential right in the pa);mcnt of
annual dividend and repayment of capital in the event of liquidation." The

above statemcent is related-to one of the types of shares. Identify it.
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19. & Ru 7w el & | g & 999 ¢ 1
AwHE (4) : [l IGE g o T B gl @R § T I b

F (R) : T& §EHT & G F & AT ¢

(A) HFET (A) T PR (R) A & & AR R, AR & F=ren @

20'.

2610

(B) HEF (A
(C) S¥FH (A

9 P (R) A TF § AR R, AR Tl e 7 2
T & qfed FW (R) o6 &

(D) AHFET (A) T FD (R) AA ST &
Choose one of the correct alternatives given below :

Assertion (A) : The revenue earned by Departmental Undertakings' is paid into
the treasury.

Reason (R): It is a source of income for the government. B f

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct i
explanation of Assertion (A).

|
(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) and Reason (R) both are false:

A Ru T fecd & @ g@ & 999 H ¢ 1
AT (A) : & TAITAHF TR W TN SRIRE A S@9Ren & g S| w
| R & e A e F & -

FOT(R): @00 & =10 O OHd ol 9 & 9§ B WRR A 390 N @

(A) SIFEH (A) @ FRO (R) At T & &K R, A A T e B

(B) @Y (A) T HRO (R) A4f G99 € AR R, AT T8 e A8 B

(C) SR%YT (A) T & AT BT (R) THA 8
(D) AMFGT (A) T FR (R) I STHA B
Choose one of the correct alternatives given below :

Assertion ‘Al : The assurnption of social responsibili_ty b}' business pI‘CWidCS
justification for its existence and growth.

Reason (R): The prosperity and growﬂ_'l of business is possible only through
continuous service to society.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) 1s true but Reason (R) is false.
(D) Assertion (A) and Reason (R} both are false.
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21. FEER 3 B iy o Ty 3

Write any three merits of partnership.

22. ST % ot = & B A7 R TR ‘ 3

Mention any three responsibility of business towards consumers.

23. Sisht W FE F 9 A o qE o 3

Explain any three differences between shares and debentures.

HYgq(
OR

MY(h aqE # fag & AR 7 e F qoA R 3

Explain any three importances of finance in modern business.

24, T AT B 3 A7 BRIV | | 3
Point out any three features of a retail trader.
CLE
OR .
ST TEHA AU F DR 77 A AU 3

Point out any three advantages of the Consumers' Cooperative Stores.

25. EE@ F4 IR § g7 Fa fifw | 4
Write four differences between Business and Employment.,

26. AT U AGH T ANYE 2 7 36 3 Al H U HY 242=4

What do you mean by Internet ? Explain its two benefits.

HYgq[
OR

9 & [t a7 R @ a1 4

Explain any four principles of Insurance.

27. 3-FGEE T § ! WITW a0 9 §-I9090 % $iF g7 3ia¥ Rifewy 24+2=4
What is e-Business ? Write any two differences between traditional business
. and e-Business.

28. UF B FaEY P Bl g7 queel & o AR | 4

Explain any four problems faced by a small business.
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30.

31.

32.

33.
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U5 FORG R Fwfas s SmRs & @ IR I B a7 et @ a9 ARy 4

Explain any four services offered by the wholesalers to the manufactures or
producers.

FREN FaqE 3 F= 7 Hew W Ty e 4
Highlight any four importance of international business.

Y]

OR
HAUS A B9 (IMF) 71 R ? 6 @ & R TR 24+2=4
What is International Monetary Fund (IMF) ? Explain its main two objectives.
HQ T & /1 o © 7 3 BR arv RATAN THARY 24+4=6

What do you mean by cooperative organization ? Explain its four
characteristics.

HYd[
OR

S TS 3 el & geett @ arE fif 5

Discuss any six limitations of the company organization.

gaats Bt & B & et & 3oF i 5

Explain any six features of the public corporations.

F D TR § R/ g ® 7 e [l & dftr aofs % 2+4=6

What do you mean by Incorporation of a Company ? Explain in brief its
procedure.

CREN
OR

qrfg dfvan @ TR SiaER | @R 8 SidTie B &

Give any six differences between the Memorandum of Association and the
Articles of Association,

34, Afdn BT o9 FO 3 KT G g IA FA A A & WA W qoiw FW 6

2610

Explain any six limitations of issuing equity shares to raise long term finance.



